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No. 1 5.80 0.77. 0.710 4.12 0.77] 0.710 4.12 H=0. 900
No. 1+ 6.80 6.40 0.88 0.825 5.28 0.88 0.825 5.28 H=1. 260
EQ&E 12.20 9.40 m2 9.40 m2
No. 0 + 18.70 0.65 0.65 H=0. 500
No. 1 4.90 0.76) 0.705 3.45 0.76, 0.705 3.45 H=0. 860
aREE 4.90 3.45 m2 3.45 m2
& § 17.10 12.85 m2 12.85 m2




if B &

H+150

o
o

B>y — hE/

0. 3H+200 |

0. 3H+250

1.0m2=nF8ZE

a vy 1)— bk (18N/mm2)
V=1/2% (0. 30%H+0. 80) *H

B ()

A=1. 044*H+H

EHEHM (1=150)
A=0. 30+H+0. 25

Bt (BEFHHEEL=10)
10mIZ 1 &R

m3

m?2

m?2

m?2




2 5 H 7 A H OBE K B F E ZE
1. 0= = n 1B &
XREWEHEELY

a>4 1) — bk (18N/mm2)

V=28. 74 = 28.74 m3
I 4 (4 f557)

A=123. 23 = 123.23 m?2
HREH (t=150)

A=52. 31 = 52.31 m2
B4 (EE S Et=10)

A=28.74/10 = 2.87 m2
HERE (L5)

A=52. 31 = 52.31 m2




2 5 B 1 X H# B X B 7 H F
222 Y—h 2R
A = Rt 7
B oEH F By B B EF Y HE

No. 1+ 6.80 0.39 1.55 H=0. 760
No. 1 + 10.00 3.20  0.37 0.380  1.22 149 1.520  4.86  H-0.730
No. 2 10.00  0.30 0.335  3.35 1.25  1.370 1370 H=0.610
No. 3 20.00  0.19  0.245 490 0.86 1.055  21.10  He0.420
No. 4 20.00  0.10 0.145 2.9 0.47  0.665  13.30  He0.230
No. 4 + 11.30 11.30  0.04 0070 0.79 0.20  0.335  3.79  He0.100

EfI A 64. 50 13.16 m3 56.75 m2
No. 1 0.16 0.74 H=0. 360
No. 1+ 6.80 730 0.40 0.280  2.04 159 1.165  8.50  H-0.780
No. 1 + 10.00 3.20  0.38 0.300  1.25 1.53  1.560  4.99  H-0.750
No. 2 10.00  0.32 0.350  3.50 1,31 1.420 1420 H=0.640
No. 3 20.00  0.19 0.255  5.10 0.86 1.085  21.70 He0.420
No. 4 20.00 010 0.145 2.9 0.47  0.665  13.30  He0.230
No. 4 + 11.30 11.30  0.04 0070 0.79 0.20  0.335  3.79  He0.100

=1 71.80 15.58 m3 66.48 m?

& F 136.30 28.74 m3 123.23 m?2




2 5 B 1 X H# B X B 7 H F

W P i HEEEIE 5
B m F B KB K B FE H X E

No. 1+ 6.80 0.48 0.48 H=0. 760
No. 1 + 10.00 3.20 0.47 0.475 1.52 0.47 0.475 1.52 H=0. 730
No. 2 10.00 0.43  0.450 4.50 0.43] 0.450 4.50 H=0. 610
No. 3 20. 00 0.38  0.405 8.10 0.38  0.405 8.10 H=0. 420
No. 4 20. 00 0.32 0.350 1.00 0.32] 0.350 1.00 H=0. 230
No. 4 + 11.30 11.30 0.28 0.300 3.39 0.28] 0.300 3.39 H=0. 100

EQ&E 64. 50 24.51 m2 24.51 m2
No. 1 0.36 0.36 H=0. 360
No. 1+ 6.80 1.30 0.48 0.420 3.07 0.48] 0.420 3.07 H=0. 780
No. 1 + 10.00 3.20 0.48  0.480 1.54 0.48] 0.480 1.54 H=0. 750
No. 2 10.00 0.44 0.460 4.60 0.44| 0.460 4. 60 H=0. 640
No. 3 20. 00 0.38 0.410 8.20 0.38) 0.410 8.20 H=0. 420
No. 4 20. 00 0.32 0.350 1.00 0.32] 0.350 1.00 H=0. 230
No. 4 + 11.30 11.30 0.28 0.300 3.39 0.28] 0.300 3.39 H=0. 100

AREE 71.80 27.80 m2 27.80 m2

& § 136. 30 52.31 m2 52.31 m2




3 5 B N H O E K B FHF H Z

W oEm K kR O E K

400

200

R (AS)
01 ] ] ; = o
avy)—FEUR
V=0.022m3
koo ) —hEE B '50
B+50

3 B=0. 3H+ (400-200-0. 4 x 100)

1.0m2=nF8ZE

a vy 1)— bk (18N/mm2)
V=1/2% (0. 30%H+0. 80) *H

B ()

A=1. 044*H+H

EHEHM (1=150)
A=0. 30*H+0. 21

Bt (BEFHHEEL=10)
10mIZ 1 &R

avy)— bR
V=0. 022

m3

m?2

m?2

m?2

m3




3 5 B N X H E X B 7 F F

1. 04 7= 03B &

KREWEAEELY
a vy 1)— bk (18N/mm2)
V=0. 86 = 0.86 m3
BR (EH7)
A=4.02 = 4.02 m2

EHEHM (1=150)
A=3. 36 = 3.36 m2

Bt GE B Ml Et=10)
A=0.86/10 = 0.09 m2

avyy— g
V=0.022%13. 2 = 0.29 m3

EmEIE ()
A=3. 36 = 3.36 m2




3 5 # ) A H# B K B F H F

222 Y—h 2R
A = Rt 7
B oEH F By B B EF Y HE

No. 4 + 11.30 0.09 0. 41 H=0. 200
No. 4 + 19.65 8.40  0.04 0.065  0.55 0.20 0.305  2.56 He0.100
EfI&E 8.40 0.55 m3 2.56 m?2
No. 4 + 11.30 0.09 0.41 H=0. 200
No. 4 + 16.10 480  0.04 0.065  0.31 0.20  0.305 1,46 H=0.100
=1 4.80 0.31 m3 1.46 m?2

op
N

5 13.20 0.86 m3 4.02 m2




3 5 # ) A H# B K B F H F

‘ H#H HEEIE
./ B ]
BB F B K2 K o&EF Yy XA

No. 4 + 11.30 0.27 0.27 H=0. 200
No. 4 + 19.65 8.40  0.24 0.255 2.14 0.24  0.255 2.14 H=0. 100
ERQ&E 8.40 2.14 m2 2.14 m2
No. 4 + 11.30 0.27 0.27 H=0. 200
No. 4 + 16.10 4.80  0.24  0.255 1.22 0.24  0.255 1.22 H=0. 100
HRI&E 4.80 1.22 m2 1.22 m?2

op
N

5 13.20 3.36 m2 3.36 m2




X & i HEE
%z X

500

150

50| | 200 | [50
300

1.0m2=nF8ZE

a vy 1)— bk (18N/mm2)
V=0. 50*0. 20=0. 10

B ()

A=0.50%2=1.0

ZHE# (£=150)
A=0. 30

m3

m?2

m?2




L = ) — N ERBEGEE

1. 04 7= 03B &

ary)— bk (18N/mm2)

V=0. 10%27. 8 = 2.78 m3
B ()
A=1.0%27.8 = 27.80 m2

EHEHM (1=150)
A=0. 30%27.8 = 8.34 m2

EmEIE ()
A=0. 30%27.8 = 8.34 m2




